TPC effcioncy, BivBi. {6, = 9.2 GeV, pim, 0-30% TPC effcency, B1+B1, 5, = 9.2 GeV. pip, 0-30% TRC effcency, Bi+Bi, {5, = 9.2 GV, km, 0-30% TPC effcency. BivBi. {5, = 9.2 GeV, kp, 0-30% TRC effiency, Bi+Bi. 5, = 9.2 GeV, p, 0-30% TPC efficiency, Bi+Bi.\fy, = 9.2 GeV. d, 0:30% TRC eficiency, Bi+Bi. {5y, = 9.2 GeV, 1, 0-30% TPC effciency, BB, 5, = 0.2 GeV. Hes, 0-30% TPC effcency, B+, {5, = 8.2 GeV. Hed, 0-30%

TRC efficency, Bi+Bi, {5, = 9.2 GeV. pip, 30-60% TRC efficiency, BivBi, {5, = 9.2 GeV, km, 30-60% TPC eficency, Bi+Bl 5, = 9.2 GeV, kp, 30603 TRC efficlency, Bi+Bi, {5, = 9.2 GeV, p, 30-60%




TOF effcency. B+, {5, = 9.2 GeV. pim, 0-30% ToF effiiency, B+, = 9.2 GeV. pip, 0-30% TOF effciency, Bi+B1.{5,, =9.2 GeV, km, 0-30% ToF effciency, Bi+Bi {5, = 9.2 GeV, kp, 0-30% ToF effcency, BitBi {5y TOF effcency, Bi+Bi {5, = 9.2 GeV. d, 0-30% “ToF efficiency, BiBi.S,,, = 9.2 GeV, 1, 0-30% TOF effcency. BivBi.fo, = 9.2 GeV, He, 0-30% TOF effciency. BitBL. {5, = 9.2 GeV. Hed, 0-30%

ToF effciency, Bi+81. {5, = 9.2 GeV. pim, 30-60% ToF effcency. B1+Bifo, = 9.2 GeV. pip. 30-60% TOF effciency, B+, fo, = 9.2 GeV., km, 30-60% TOF efficiency, BBl {5y, = 9.2 GeV, kp, $0.60% TOF efficiency, Bi+Bi, (5, = 9.2 GeV, p, 30-60%




PID effiiency, BB, {5, = 9.2 GeV, pm, 0-30% PID effciency, Bi+Bi. 5, = 9.2 GeV, pip, 0-30% PID efficiency, Bi+Bi.Sy, = 9.2 GeV, km, 0-30% PID eficiency, Bi+Bi. R, = 9.2 GeV, kp, 0-30% PID efficiency, Bi+Bi S, = 9.2 GeV, d, 0-30% PID efficiency, Bi+Bi 5, = 9.2 GeV, t, 0-30% PID effcincy, BitBi {5, PID efciency, BisBl {5, = 9.2 GeV, Hed, 0-30%

PID effcioncy, B, 5, = 9.2 GeV. pip, 30-60% PID efciency, Bi+B1.V5, PID efficiency, B+ 5,




DCA efficiency, BBl 5., = 9.2 GeV, pim, 0-30% DCA effcency, Bi+Bi {5, = 9.2 GeV. pip, 0-30% DCA efcency, Bi+Bi {5, = 9.2 GeV. km, 0-30% DCA efcency, Bi+Bi 5, = 9.2 GeV, kp, 0-30% DCA efficiency, Bi+Bi. {5 = 9.2 GeV. p, 0-30% DCA effiency, Bi+Bi. {5, = 9.2 GeV. d, 0-30% DCA effciency, B+, 5 = 9.2 GeV. £, 0-30% DCA effcency, Bi+Bi {5, = 9.2 GeV, He3, 0-30% DCA effciency, Bi+Bi {5, = 9.2 GeV, Hed, 0-30%

'DCA efficiency, Bi+B1 {5, = 9.2 GeV, pip, 30-60% 'DCA effciency, Bi+BiGy, = 9.2 GeV, kp, 30-60% DCA effciency, BitBi{o, = 9.2 GeV, Hed, 30-60%




PID contamination, B+, = 9.2 GeV. pm, 0-30% PID contaminatn, BitBi 5, = 92 GV, . 030% PID contaminaton, BitBi V5, = 9.2 GeV. km, 0-30% PID contamination, BB, = 9.2 GeV. kp, 0-30%. PID contamination, B+, = 9.2 GeV. p, 0-30% PID contamination, BBy, = 9.2 GeV. d, 0-30% PID contaminaiion, Bi+Bi. {5, = 9.2 GeV, 1, 0-30% PID contaminaton, BitBifey = 9.2 GeV, Hes, 0-30% PID contaminaton, BBy, =9.2 GeV. Hed, 0-30%

i3

PID contaminaton, Bi+8i, = .2 GeV, pim, 30-60% PID contaminaton, Bi48iF, = 9.2 GeV, kp, 30-60% PID contarminaton, Bi+Bi, = 9:2 GeV, He3, 30-60% PID conarmintion, BisBi 5y, = 9:2 GeV, Hed, 30-60%

i 1
y




b, cortecion, BBl &, = 9.2 GeV, pm convaly 0-30%.

2 GeV, km,canvaity 0-30% p, cortecton, B35, = 5.2 GeV, kp,centalty 0-30% b, cortecion, Bi+Bif5, = 9.2 GeV, . cenvalty 0-30%

b, correcon, BisBif5, =9:2 GeV, d. contay 0-30% P, correction, Bi+Bi 5, = 9.2 GeV. 1, centaty 0-30%

2Gev, Hes,canvalty 0:30%

b, comecton, 61488, = 8.2 GeY, Hed, contaly 0305

b, P, .Ceve

b, conecton, B8

', cotecion. it {5, = 5.2 GV, . ceralty 30-60%

' cotecion ieB1. {5, = 0.2 GeV. Hed, conalty 30-50%




55, b1<05, ey 5,11 <05, ieBifi, =52 Gov, pp conaley 030% 5,11 <05, BieBifi, =92 oV, km, conaley 030% 55, <05, BieB = 9.2 G, kp,convlty 030% y Y 0, <05, BB, =92 Gev, d. convaly 030% 55,1 <05, 1By =52 G . conally 030% 5,151, 9.2 Gev, He,conrlty 0303 B, <05, 4B =52 . es,cntaly 030

25

335 335
b, Gevie b, Gevic

92.GaV, . contalty 30600 5, 111<05, BB &, =02 GoV, . convalty 30600 5,1 <05, BeBi R, = 8.2 Gev. . conalty 30-60% 5, <05, BieBi|f, = 0.2 GeV,Hod, contalty 3060%.

25




55,105, BB &, =92 GeV, pm cenvaly 0-30%

2,

5y 1< 05, BB, = 9.2 GoV. pm,cenraty 0.60%

eSS

5,1 <05, BieBi iy, =92 Gov, i, cenwal 030%

“N*

3 35
b, Gevic

OEE
0|
T0 05 1 15 2 25

1,1y <05, ieBiyigy = 9.2 GeV, km,conualty 030%

5, 1 <05, BoBi iy = 8.2 Gav, km. cerraky 20.60%

3 35
b, Gevic

3. 11 <05, BeBi = 92 GeY, kp,contalty 0-30%

8p,.1<05. 1815y,
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p,. Gevic
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35
b, Gevic

7,105, BisBi By, = 9.2 GV, d, contally 0-30%

335
b, Gevic

2 Ge, d, cantay 30.60%

5, b1 <05, BeBL = 52 GeV, L convalty 0-30% 5, Bl = 9.2 eV, Hes, centaty 0.30% 51, 1<0.5, BB = 9.2 GeV, Hed,convalty 030
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8o,
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57, <05, BB [, = 9.2 Gav. Hed, sy 20.60%
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35
b, Gevic

5, 1 <05, BioBi i, = 9.2 GeV. Hed cnaty 3060%.
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Uncorrected, Bi+Bi, {5, = 9.2 GeV, pim, 0-30% Uncorrected, Bi+Bi, 5, = 9.2 GeV, pip, 0-30% Uncorrected, Bi+Bi, {5 = 9.2 GeV, km, 0-30% Uncortected, Bi+Bi, {5y Uncortected, Bi+Bi, {5, = 9.2 GeV, p, 0-30% Uncortected, B+Bi. {5y, Uncorrected, Bi+B. {5, = 9.2 GeV, t, 0-30% Uncorected, B+, &, = 3.2 GV, He3, 0-30% Uncorrected, Bi+8i. {5,

Uncorrected, BivBi. {5, = 9.2 GV, k. 30-60% Uncorrected, B+Bi. s, = 9.2 GeV., d, 30-60% Uncorrected. BisBi (&, = 9.2 GEV. Hed, 30-60%




Cortected, Bi+Bi, {5, = 9.2 GeV, pim, 0-30% Corrected, BitBi, Sy, = 9.2 GeV. pip, 0-30% Cortected, Bi+Bi, S, = 9.2 GeV, km, 0-30% Correcled, BivEi 5., = 9.2 GeV, kp, 0-30% ‘Corrected, Bi+Bi, Sy = 9.2 GeV, p, 0-30% Corrected, Bi+Bi, 5y = 9.2 GeV, d, 0-30% Corrected, Bi+Bi, 5y = 9.2 GeV, t, 0-30% Cortected, Bi+Bi, {5, = 9.2 GeV, He3, 0-30% Corrected, Bi+B, 5, = 9.2 GeV, Hed, 0-30%

y

Cortected, BV, [5y, Cortected, BIvBi [5y,

i | ‘ ' | 7 Yy




